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Q. Write a précis of the following passage and also suggest a suitable title: (20)
One night a holy man, Abu Ben Adhem by name, suddenly woke up from a deep dream
0l peace and saw in his moonlit room an angel writing something in a book of gold. He
did not feel at all frightened. The peaceful face of the angel made Abu bold and he said
to the angel, “What are you writing?” The angel looked up and replied in a kind and
who love God.” “And 15 my name
one among them?” Asked Abu. But the angel replied.” No. it is not.” 1 pray thee then,”

¢s his tellowmen.” The Angel wrote and

sweet tone. I am taking down the names of tho

said Abu, “To write me down as one who loy

vanished. The next night the angel came again with a great light which awaked Abu Ben

Adhem: and he showed Abu the names of those who had been blessed by the love of
God. 'And behold! The name of Abu was at-the top of the list. -
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Idea is ok. Punctuation-needs imprgfement
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Idea is ok. Punctuation needs improvement.


Atomic Energy promises vast possibilities(=t€+/) to mankind. Einstein | :_5;:-__;
theory of atom which tells that matter (:54) and energy (=26) can be converted {2
(e into each other and energy has thousand of uses. The problem was how L'_
atﬂm(hﬂ and get energy.and it was made possible in 1938 by Hahn and Stre
. Then came self- sustaining (dh..._, 1o "'ﬂ} nuclear chain reaction. Althougt

reactors are not perfect machines and one per cent ot total energy is - reduced
them, (T x Z15) even this amount is enormous((¢). One pound of urz ,;-i,_:
energy equivalent (') to three million pounds of coal. Better reactors vn]l
more energy with lesser cost and longer duration in future. The uses of atomit

are manifolds ( Sy £ r'J kf ) It can bring peace and Prosperity ([Jb’_?‘) to thﬁ
used wisely, but H“‘““ﬂﬂ““ﬂ}'(tﬁ = (& -ﬁ) it can destroy this earth lf
destructive purposes. It depends upon man to avail(t e 1.56) it p}:;szhvez, dp

and prop
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